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Simplify:
: g 13
1. [2&]3 2°¢c. = 8¢
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4, (—41118)(2ménsj -8 mHn &

Simplify: Write your answer using
posifive exponents.

T 5 gt g
a__’v = ._.-!-;-
a
6. 4% +2+5°
b +2 +1 = 19

Simplify the expression using positive
exponents.
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8. smplity 5 = 2

Simplify. Write your answer using positive
exponents.
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10.  Evaluate the expression ———. = 57 =
5b
11. Rewrite using only positive exponents: 2a°b%¢™
203b%
c b
12. Rewrite the expression using positive exponents.
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Simplify:
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Simplify
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Simplify:
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Simplify:
20, 44/2+3/3 ~5/3
YWz -243

Simplify the expression. Write your answer
using only positive exponents.
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22, Afx7p* —_—
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14 Z 3
23, 1(> f: Ux“‘g” z” =X Yy

Simplify the expression. Assume all variables
are positive.
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26.

27.

28,

29.

30.

State whether the following are rational or
frrational numbers,

Fill in each blank using the word: all, some, or
none, '
A) AU ? rational numbers are real numbers.
B) _All ? integers are rational numbers.

C) _somée. ? rational numbers are integers.

D) Alon ¢ ? integers are irrational mumbers.

E) _Some ? real numbers are irrational numbers.

F) _pil ? real numbers are either irrational
numbers or rational numbers.

Simplify and show all work for full credit.

s .y =3 Vi = 3V04
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32.

33.

34,

35.

37.
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~y (D) Jio
-8\70

Write each expression in exponential form.

VB (3b) %

Write each expression in exponential form.

[%]4 (XV3){1 = XLUS

Write each expression in radical form.
2

NP

‘Write each expression in radical form.
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